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MCQ (Single Correct Answer)

If S is the sum of the first 10 terms of the series
tan~—1 (%) +tan ! (%) +tan! (1—13) +tan ! (%)—5— .

then tan(S) is equal to :
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2 - (sin*I% + sin ! % + sinflg) is equal to :

0
0

Ans -C

JEE MAINS 2019 PROBLEM SET : ONLINE




€) JEE Main 2019 (Online) 9th January Morning Slot
MCQ (Single Correct Answer)

fcos™! (£) 4+ cos ! () = F (x> 3) thenxis equal to
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If x =sin~1(sin10) and y = cos~(cos10), theny — x is equal to :
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The value of cot (Z cot ™ (1 + 3 2p)) is -
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All x satisfying the inequality (cot™" x)2- 7(cot™" x) + 10 > 0, lie in the interval :

O (cot2, )

G (-00, cot 5) U (cot 2, o0)
© (cot5cotd)

Q (= o0, cot 5) U (cot 4, cot 2)
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Considering only the principal values of inverse functions, the set
A={x>0:tan~'(2x) +tan~1(3x) = T}

o contains two elements

© contains more than two elements

© is an empty set

© is asingleton
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Ifo=cos* (£),8=tan ' (3) where0 < a, B < T, then a- Bis equal to
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lfcos™ 'z — cos™'4 = awhere -1 <x<1,-2<y<2,x< 4 thenforallx,y, 4x2 - 4xy cos a +y?

is equal to :

0O 4sin2a

0O 2sin2a

© 4sin2a-2x%2
© 4cos?a+2x2y?
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The value of sin ' (43) —sin ' (2) isequalto:

O r—sin ! (&)
0 5 —sin! ()
© 5 cos! (&)
O r—cos i (2)
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